(22111201) LGS KN EE TR e N DL

F= AL LR S 1L ek 4 31 SES
1 22111201 THHE R by = 140302 %skskokskkkskskokkk
2 22111201 THHE R PR AE = 120104 %skskokskkskskskokkk
3 22111201 THHE R B = 130225 %skskokskksdskskokkok
4 22111201 THHE R KL = 370786k kkskkskokkkAk
5 22111201 THHE R X = 142227 sskskokskkdskskokkk
6 22111201 THHE R e = 410303 %skskskskokkksskokok
7 22111201 THHE R ITHE = 131025 %skskokskkdskoskokkk
8 22111201 LI T R % 18 1 L2 12010 1 skoksksrsiiokokosfeoksok
9 22111201 THHE R 17 B = 34082 4skskkksskskokkkodok
10 22111201 TR F R " — z 370882 skskskskskskookoksksok
11 22111201 THHE R x| 38 = 372929k skkodok
12 22111201 TR F R KA z 14042 1 sokskokokokskokokokokok
13 22111201 THHE R bk = 1201 10sskskokskkstososkokskk
14 22111201 THHE R I kB = 13053 3 sskskokskkstsokokokok
15 22111201 THHE R T = 120104 sskskokskksdskoskokokk
16 22111201 THHEHE R EHE = 370828 %skskkkskokkkskokk
17 22111201 THHE R &2 = 140226 %%k kkskskkkskok
18 22111201 T R4 2 L] % 371322%kskskskskskskskskskk
19 22111201 H T R #HE z 13063 2skskokskokokskokokokokok
20 22111201 THHE R g = 1201045k kkskskkkskok
21 22111201 EHHE R R E = 2920202k skskkskokgskokkskok
22 22111201 EHHE R X 48 = 120223 sokskskoksfskoksfokkok
23 22111201 EHHE R & M = 37078 skkskoksgskokkskokkok

#F1W, 27




F=s LR S i ek 4 31 SES
24 22111201 THHE R KM F = 130206 %kskskskkskskskokkk
25 22111201 THHE R TE = 130423 sskskokskkdoskskokkk
26 22111201 THHE R oK fie = = 370786k kkskkskokkkAk
27 22111201 THHE R gAY = 140203 sskskokskksdoskskokkk
28 22111201 THHE R =R = 37012 4% kkskkskokkkodok
29 22111201 THHE R By = 14243 1 skskokskkdokskorkk
30 22111201 LI T R AT, % 41282 THskskskskskskkskskskk
31 22111201 THHE R 5L = 130221 skskokskktsskokkk
32 22111201 THHE R &= M = 130723 sskskokskkdskoskokkk
33 22111201 THHE R X R X = 130402 %skskokskkdskskokkk
34 22111201 THHE R FTHR. = 142601 sskskokskksskokkk
35 22111201 THHE R 2hE 4 = 37083 2skskskksdskkokkkodok
36 22111201 THHE R £ 5= M = 120104 sskskokskksdskokokokk
37 22111201 THHE R AT = 1201 10sskskokskktosokokkk
38 22111201 THHE R AR = 130603 sskskokskksdskkokkk
39 22111201 TR F R G2 Z 13028 3skskskokokoksksksiskkok
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